SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 460029
MATHEMATICS / 7Tfor

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3id : 90

General Instructions:

(i)
(i)

(v)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.
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Rationalisation of the denominator of : ﬁ
1
—_— 2 — /2
A 75 (B) V5 +.2 ©) -2
1 .
—_— :
ELrp e TRERTEHTIT T T TR0 B
1
— 2 -2
(A) &= B Bz (©Q E-2
The coefficient of x in the expansion of (x +3)3 is :
(A) 1 (B) 9 (C) 18
(x +3)3 % wER H x %1 T ¥
A) 1 B) 9 (C) 18
The value of the polynomial ¥2—x—1 atx= —11is:
(A) -3 B) 1 © -1
x=—1REgRL2—x—1HFTAE:
(A) -3 B) 1 © -1

gives :

(D) 27

(D) 27

Which of the following polynomials has —3 as a zero ?

(A) x—3 (B) x2-9 (C) x2-3x

frferfed & § forg sgag 1 = —3 72

(A) x—3 (B) x2-9 (C) x2—3x

The complement of (90°—a) is :

(A) —a (B) 90°+a (C) 90°—a
(90°—a) =1 = 2 :
(A) -—a (B) 90°+a (C) 90°—a

(D) x2+3

(D) x2+3
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6.

In given fig.,, AD=BC and Z/BAD = ZABC, then ZACB equals:
D C

A B

(A) ZABD (B) /BAD (C) BDA (D) £BAC
& T etpfa §, AD =BC a1 ZBAD = ZABC, a1 ZACB stsR % :

D C

A B

(A) ZABD (B) /BAD (C) /BDA (D) /BAC

The perimeter of an equilateral triangle is 60m. Its area is :
(A) 1043 m’ (B) 1003m”(C) 153 m’ (D) 203 m?
afg Tk FuaTg st o1 9fama 60 . &Y, O TR SA%e BT -

(A) 1043 #? (B) 100372 (C) 153 ? (D) 2032

The base and hypotenuse of a right triangle are respectively 6 cm and 10 cm long. Its area is :
(A) 60cm?2 (B) 120 cm? (©) 30cm? (D) 24 cm?

Teh TR AT 1 SR o1 ol ShAsT 6 T a2 10 Tt B 1 B9[S o1 &%t ©

(A) 60 TP (B) 120 HHR (C) 30 HHR (D) 24 GHR
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10.

11.

12,

13.

Section-B

Question numbers 9 to 14 carry two marks each.

2 -1 :
f NP =a + by2 then find value of a and b.
afg V2 -1 =a+by2 B dadwb % wH IE HISTI
2 +1

Using remainder theorem, find the remainder when >+ 3x%+3x +1 is divided
1
b ( _ _j.
y | x 5

ST T T 204 3224 3% +1 & (x _ %)@ ST TR 9 e i S

a b 2
Expand (3— + = - 2cj .
2 4
a b 2
(35 + i 2c) 1 GG shifely |

If a point C lies between two points A and B such that AC=BC, prove that
AC= %AB. Explain by drawing figure.

afg o fag C 21 21 fogaii A e B & i 39w feod € ff AC=BC g, @1 i diwa fag
ﬁﬁmﬁAC=%AB%|

In the figure below, the diagonal AC of quadrilateral ABCD bisects #BAD and
«BCD. Prove that BC=CD.

D

B

=1 empfa ) wgds ABCD =1 fasot AC, ~BAD @en ~BCD =i gufguifea s 81 fag ifs
f@ BC=CD %I
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14.

OR

If two lines are perpendicular to the same line, prove that they are parallel to

each other.

Ffe S T T & W@ W o 8, o f9g it for 3 SHi Y@t oe gHia Bl B

From given figure write the following :

A

N Y]

Y

(A) The coordinates of P
(B) The abscissa of the point Q
(C) The ordinate of the point R

(D) The points whose abscissa is 0
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15.

16.

A
4..
3..
2..
M R 1¢ Q S
C —5-4-3-2-1| 1 2 3 45 6 7
_1-.
oP —21
—3¢T
(A) P frwie
(B) fog Qs
(C) frgR F I
(D) =& fag foemm =10 §
Section-C

Question numbers 15 to 24 carry three marks each.
Simplify : % /486 — /%

WA HIFIT : %«/48 - ’2—27

OR
1 1 1
1 Z m \yppy n ,,T
Prove that [x—mjl {x—n}mn (X—ZJ l=1
X X X
l 1 1 1
firg <o [x_]l’“ (_Jm {x_lJ’”ﬂ %
x™ n x

3

2y

-3
Simplify : [%]4 X
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17.

18.

19.

5 -3

-3
TR FHIFAT [%]4 X

Find the value of a if (1 — 2x) is a factor of the polynomial 2x# — ax3 + 4x2 + 2x + 1.

a %1 W T FE A (1 — 2x) 5898 2% — ax3 + 4x2 + 2x + 1 %1 e

OR
Evaluate using suitable identity : (999)3

SUFERI WA 1 STE e 7T (999)3 F1 W 7@ Hif |

Using suitable identity evaluate (— 28)3 + (9)3 + (19)3.

IR A FFE F g (— 28)3 + (9)3 + (19)3 w5 W 7w Fifw

The sides BA and DC of a quadrilateral ABCD are produced as shown below.
Show that x+y=a+Db.

D

D

OR
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20.

21.

In the given figure, if ~FDA=85°, ZABC=45°and 2~ ACB=40° then prove
that DF||AE.

F E
85° C
D A 40° "
45°
B

& T sTafa #, afe L FDA =85°, Z ABC=45° 3k £« ACB=40° 9, @ fag =ifsw & DF||AE
Tl

F E
85° C
D A 40° g
45°
B

In the figure below, if AB||DE, then find the measure of ACD.

fr= smepfa #, afe AB||DE &, It ACD 1 A I &ifSg |

A P
110°

150°

In the following figure, in AABC of the following figure, ~B = 30°,
« C = 65° and the bisector of A meets BCin X. Arrange AX,

BX and CX in ascending order of magnitude.
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A
30° 65°
B X C

stepfa # st ABC d, ~,B=30°, £C=65°%am £ A & wafgasis BC &1 X ®faemr g1 AX,
BX 2R CX =i 377 afHoi o S8R TR A H =afeed sifey |

A
30° 65°
B X C

22.  In the following figure, AD is the bisector of #A of AABC. PQ and

PR are perpendiculars from any point lying on AD, P to sides AB

and AC respectively. Show that APQA = APRA and PQ=PR.

A
Q R
P
B D C

= & sepfa #, AD fayst ABC & &1 A 1 smfgarsia €1 PQ iR PR, AD w feerd foreft faig P &
e gensii AB 3iR AC W et 7u &a § 1 guize fiF APQA = APRA g e PQ=PR 1

A
R
Q
P
B D C

In the figure below, I1]|lp and m1||my. Prove that #1+ ~2=180°.

23.

Page 9 of 14



24.

25.

26.

The length of the sides of a triangle are 10 cm, 24 cm and 26 cm respectively.
Find the length of the perpendicular drawn from its opposite vertex to the side

whose length is 24 cm.

T st i = ogensT wt wreEa swEe: 10 cm, 24 cm @9 26 cm §1 24 cm ST % 9@ I
forg W 38 S W Tl T4 7 hi IS G I |

Section-D

Question numbers 25 to 34 carry four marks each.

If x=9—445, find the value of x2 + 1

x2
A x =945, q 12+ - @ FHh
X

OR
Express 2.36 + 023 as a fraction in simplest form.

2.36 + 0.23 &l T il o ®9 § e hiferu |

Simplify : 6 TR S 43
PRI B BB B2
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27.

28.

29.

30.

31.

.6 3. _ 43
B - vy -y S Y

Factorise : (x2 —3x)2 — 8(x2 — 3x) — 20.

(x2 — 3x)2 — 8(x2 — 3x) — 20 ¥ TS FAT |

Using long division method show that the polynomial p(x) = x3 +1 is divisible
by q(x) =x+1. Verify your result using Factor Theorem.

it S AR 5 TET R p(x) =43 + 1, 7gwe q(x) = x + 1 & fasfa g &1 e W d
T9eht g hIfST

Ifa+b=12 and ab=27, find the value of a3 +b3.

Ffta+b=12dqmab=27% & a3 + b3 &1 9+ 7 FfT|

OR
The polynomial ax3+3x2—3 and 2x3—5x+a when divided by x—4 leave the
same remainder in each case. Find the value of a.

557 axd + 3x2 — 3 g 2x3 —5x +a H v (x —4) & 9 fon < @ @ Y& I H T 9w
AT a 1 HH F1d HITT |

Find the co-ordinates of the vertices of a rectangle placed in III quadrant, in the
cartesian plane with length “p” units on x-axis and breadth ‘q" units on y-axis.

31 o 9T fergadl o fdwiien 3 ity wefer o wqerta I # feod & o s 7o § sHeht o ‘p’
Tk, X-H& W AR =S 'q T, Y- WL

Two sides AB and AC of a AABC (as shown in figure) are produced

to P and Q respectively. The bisectors of £ PBC and ZQCB intersect

each other at O. Prove that #BOC =90° — % ZA .
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32.

33.

& 7€ ammepfa § AABC =i ysiiaii AB @it AC =1 e P @i Q ae siern mn €1 9t «PBC i
2 QCB  wfgamsms w T F1 O firg = W F3 3, @1 fag Fifm £ /BOC = 90° — % e

In the given figure, AB and CD are respectively the smallest and longest sides of a
quadrilateral ABCD. Show that ZA> ZCand £B > ZD.

B

D

C

<& T aRfa 6, AB 3R CD awt: T =q4s ABCD &1 ward B ik Tl o<t g | <wfsy for

/A>/C3R /B> /D%
D

A

B C

In Fig. given below, AB and CD are respectively the smallest and longest sides
of a quadrilateral ABCD. Show that /B > /D.
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34.

B C

=1 emmepfa # waw wgs ABCD # AB aen CD 9 Tod S1el a1 o a1 o7 € | q9iisy fh
/B> /D.

In the given figure, PQRS is a square and SRT is an equilateral triangle. Prove
that :

(i) «PST= «QRT
(i) PT=QT
(i) £QTR=15°

T

5 Q

= € ¢ eepfa #, PQRS we o & 9 SRT wes wwerg Biyst © 1 fog shiforg fo
(i) «PST= /QRT

(i) PT=QT

(i) £QTR=15°

Page 13 of 14



Page 14 of 14



